[Tpunoxenue 7 OII BO

denepanbHOe rocylapcTBeHHOE OI01KeTHOe 00pa3oBaTe/IbHOe
yupeskaeHHe BhICIIero 00pa3oBaHust
«POCCHHCKAS AKAJIEMHUSI HAPOJTHOI'O XO3SIUCTBA
U TOCYIAPCTBEHHOM CJIYKBbI
IIPU TPE3UJIEHTE POCCUVICKOM ®EJEPAIIIN»

HMHcTuTyT 00IL1IECTBEHHBIX HAVK
IIkoia nyOJIMYHON MMOJUTHKHA U VIIPABJICHUS
Kadenpa Mexxa1yHApOIHOTO MEHEIKMEHTA

YTBEPXJIEHA

kagenpoit MeXIyHapOIHOTO
MEHEKMEHTA

ITporokoa ot «2» mast 2019 .
Ne 2

PABOYAS TPOT'PAMMA JIJUCHUITJIMHBI
51.5.08.01 Beenenue B skoHOMHYECKYIO Teoputo (Introduction to economics)

(UHOEKC, HAUMEHOBAHUE OUCYUNIUHBL, 8 COOMBEMCMEUU C YUeOHbIM NIAAHOM)

38.03.02 MeHemKMEHT

(K00, HAUMEHOBAHUE HANPAGTEHUs NOO20MOBKU (CReYUATbHOCL)

«busHec, KyibpTypa U a3blku ctpad Esponsl (European Business, Lanquages and Culture).

AHITIOS3BIYHBIN GaKaﬂaBDHaT»
(nanpasnennocms(u) (npopuns (u)lcneyuanuzayus(uu)

bakanagp
(kéanupurayust)

Ounas
(popma 0byuenust)

I'og HaGopa — 2020 .

Mocksa, 2019 1.



ABTOpP—COCTABUTE/Ib.
JOLEHT Kadeapbl MEKIYHAPOJHOTO MeHekMeHTa, PhD Heitmrant U. B.

3asenyromuii kagenpoi
MexayHapoanoro menemkmenta MOH PAHXul'C, x.3.H. Abpamosa H. M.



COJEP)KXAHHUE
1. [lepedyenr mNIaHUpPYEeMBIX pE3YIBTATOB OOy4YeHHs] MO JAMCLUUILIMHE,

COOTHECEHHBIX C IUIAHUPYEMBIMHU PE3yJIbTaTaMi OCBOCHHSI 00pa30BaTeIbHOM MPOrpaMMbl

2. OObeM U MECTO TUCHUIUIMHBI B CTPYKTYype 00pa3oBaTeIbHON MPOTrpaMMBI

3. ConepxaHue U CTPYKTypa AUCHUTUIMHBI

4. Marepuanbl TEKyIIEro KOHTpPOJIS YCIEBAaeMOCTH oOOydarommxcs U (poHz
OLIGHOYHBIX CPE/ICTB MPOMEXYTOUHOM aTTECTAIMH IO AUCLUIUINHE

5. Mertoauueckue ykazaHUs Ui 0Oy4aroIIUXCsl 10 OCBOCHUIO JIHCLUIUINHBI
(Mo myris)

6. VYuebHas JauTeparypa u pecypcsl UH(POPMAITMOHHO-

TeJIeKOMMYHUKAIlMOHHOW cetn "MHTepHeT", yueOHO-MeTOqMUECKOoe obecreueHue
CaMOCTOSATENILHON PabOThl 00yJaIOIIMXCS M0 TUCIUIUIMHE

6.1. OcHoBHas uTEeparypa

6.2. JlonoJHUTENbHAS TUTEpaTypa

6.3. YueOHo-MeToqruecKoe 00ecTIeYeHne CaMOCTOSTEIbHON paboThI

6.4. HopmaTuBHBIE IPaBOBbIE JJOKYMEHTHI

6.5. aTepHeT-pecypcehbl

6.6. MlHBIC HCTOYHUKH

7. MarepuanpHO-TexHU4ecKass  0a3a, WH(POPMALMOHHBIE  TEXHOJIOTHUH,
porpaMMHoO€e obecrieueHre 1 HHPOPMaIMOHHBIE CTIPABOYHbBIE CUCTEMBI



1.

1.1 Iucuumnuaa b1.5.08.01 Beenenue B 3koHOMHueckyro Teoputo (Introduction to economics)

4

HepequL MJIAHUPY EMBIX PE3YyJIbLTATOB 06y‘leHI/Iﬂ o TUCHMIIJIMHE, COOTHECCHHBIX C

NJIAHUPYEMBIMU peE3yjJdbTaTaMi OCBOCHUS NIPOrpaMMbl

o0ecneunBaeT OBJIAZICHUE CIICAYIOIIMMH KOMICTCHIUAMHA C YY€TOM JTara.

Kon HaunmenoBanue Konx sTama ocBoeHus HaunmenoBanue dtamna
KOMIIETEHI[HH KOMIIETEHIIUU KOMITETEHI[HH OCBOEHHSI KOMIIE TEHIIHH
YK-9 CnocobHOCTh YK-9.1 Cnocoben HCII0Jb30BaTh

HCITIOJIB30BaTh  OCHOBBI SKOHOMHUYECKHE 3HAHUA IS
SKOHOMHUYECKUX 3HAHUI [MOHAMAaHUA u OIIEHKHU
B pasIuuHbIX cdepax MIPOIIECCOB B DKOHOMHUYECKOM
JEATEITBHOCTH chepe ku3HH OOIIECTBA Ha
pa3IMYHBIX YPOBHSIX.
VK-9.2 CnocobeH  oneHuBaTh H
apryMEHTUPOBATH
COOCTBEHHYIO TOYKY 3pCHUS
o HKOHOMHYECKHM
npobjieMaM H  pa3IUYHBIM
acIleKTaM COIHAIBHO-
SKOHOMHYECKON  IOJUTHKHU
roCyJapcTBa

1.2.

B PE3YJIbTATC OCBOCHU NUCHUIUINHBI Y CTYACHTOB NOJIKHBI OLITh C(I)OpMI/IpOBaHBI:

OT®/TD Kop srana Pesynbrarel 00yueHus
(Mpu HATMYUHU OCBOEHUS
npodcranmapra)/ KOMIIE TCHIIUU
po(heCCHOHABHBIC
JEUCTBUS
VK-9.1 PaGoraer cO CTaTUCTHYECKHMMH COOpPHUKaMH,
CHEMATM3UPOBAHHBIMU OTEYECTBEHHBIMH u
3apyOeXHBIMH ~ CalTaMH CO  CTATHCTUYECKOMN
nHpOpPMAIIHCH.
Hcnonp3yer craHmapTHbIe METOIBI JUIS aHaIH3a
PSZIOB TUHAMHUKHA SKOHOMUYECKUX MTOKAa3aTeIIeH.
YK-9.2 BreisiBisier W OICHMBAaeT B3aWMHOE  BIIMSIHUE
HKOHOMHUYECKUX MOKa3aTeIeH.
Ono3Haer SKOHOMHYECKYI0 cdepy oOIecTBa, Kak
CIIOKHYIO CUCTEMY.

2. O0beM 1 MecTO TUCHUILIMHBI B cTpykType OIl BO

O0beM TUCHHUINITUHBI

O0bem qucuuniauesl: 216/6 162/6
Konrakrthas pabora: 116/87
Jlexuuu 56/42




JlaGoparopHbie pabOTHI
[MpakTtudeckue 3anstus 56/42
CamocTositenbHas pabora 64/48
Mecto nucuunymmusl B crpykrype OII BO
uHeKe U HaumeHoBanue guctuiumabl: 51.5.08.01 Brenenue B skonomMudeckyro teoputo (Introduction to

economics)

Kypc(b1), cemecTp(bl) Wiau TpuMecTp(bl) €€ OCBOCHHS B COOTBETCTBHUU C yueOHBbIM ranoM: 1 kype, 1,2
CeMecCTp

JMCIUTUIMHA SBIISICTCS OCHOBOM ISl U3YYCHHUS
b2.11.2 TlpennurioMHas MpakTUKA

(dopma(bl) MPOMEIKYTOUHOM aTTECTALUK B COOTBETCTBHHU C YUCOHBIM TUTAHOM: DK3aMeH

3. Coaep:xaHue U CTPYKTYPa AUCHHILIMHBI

Ounas chopma odyuenun

Cemectp 1
Nen/m | HaumeHnoBaHue TeM O6beM auCHUNINHBI (MOTYJIs), Yac. ®opma
(pa3nenos), Bcero KonrakTHas padora Cp TeKymero
o0yyaromuxcs ¢ KOHTPONT
ycreBaeMocTu*™,
npenojaBaTeieM TP OM €KY T 04 HO
10 BUJIaM y4eOHbIX 3aHATHI arTecranuu®
J/30, | JIP/30, | Mm3/30, | KC
aoT* JoT* JOT* P
Temal | PRINCIPLES OF 4/3 o,T
ECONOMICS 2115 2115
Tema2 | DEMAND, 2/15 2/15 4/3 o, T
SUPPLY AND
EQUILIBRIUM
Tema3 | EFFICIENCY AND 2/15 2/15 4/3 o,T
GOVERNMENT
INTERVENTION
Tema4 | PRODUCTIONAND 2/15 2/15 4/3 o, T
COST
Tema5 | PERFECTLY 2/15 2/15 4/3 o,T
COMPETITIVE
MARKETS
Tema6 | IMPERFECT 2/15 2/15 4/3 o, T
COMPETITION
Tema 7 | GDP AND 4/3 4/3 4/3 o,T
INFLATION
Tema 8 | LABOR MARKETS. 4/3 4/3 4/3 o,T
UNEMPLOYMENT
Tema9 | CREDIT MARKETS 4/3 4/3 8/6 o, T
AND MONETARY




SYSTEM
Tema 10 | BUSINESS CYCLES 4/3 4/3 8/6 oT
AND
MACROECONOMIC
POLICY
[IpomexyrouHas arrecranus 3auer
48/
. 108/3 4/3
Bcero: 81/3 28/21 28/21 36
*[Ipumeuanue — onpoc (O), mecmuposanue (T);
Cemectp 2
Ne n/nm HaumenoBanue Tem O0beM U CHUTIUHBI (MOTYJIs1), Yac. ®opma
(pasnenos), Bcero KonTakTHas padora CPpP TEKYIero
o0yyaromuxcs ¢ KOHTPOIA
ycmeBaeMocTu™*,
npenojaaBartejieM TP OMESKY TOM HO
10 BUJaM y4eOHbIX 3aHATHIl arTecranuu®
J/0, JIP/ 20, m3/30, | KC
AoT* AO0T* JOT* P
Temal | NOTPeOHTELCKHI 6/4,5 8/6 211, o7
BbIOOP 5
4/3
Tema2 | -AHMAMM3cnpoca 413 211, o,T
5
4/3
Tema 3 Kommanu u 6/4,5 211, 0T
NPOAYKIMS 5
4/3 4/3
Temad |  COBepUICHHAR 211, o,T
KOHKYpPeHUMsI 5
4/3 4/3 4/3
Tema 5 PniHouyHas BIACTH O, T
4/3 4/3 4/3
Tema 6 Crparerunueckoe 0.7
noBeeHne
IIpomexyrounas JK3aMeH
aTTecTaus
Bcero: 108/3 28/21 28/21 16/ /
81/3 8 8 19 36/27

Conep:kanmne JUCHUIIAHBI
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Cemectp 1
Tema 1. PRINCIPLES OF ECONOMICS
Introduction to economic thinking. Main questions of economics. Opportunity cost. Production possibility
frontier. Economic principles. Applications: Absolute and comparative advantages

Tema 2. DEMAND, SUPPLY AND EQUILIBRIUM
The law of demand. The law of supply. Market equilibrium. Predicting changes in price and quantity.
Elasticities of demand and supply. Types of goods.

Tema 3. EFFICIENCY AND GOVERNMENT INTERVENTION

Methods of organizing economic activity (market, command economy, majority voting). Benefit, cost and
welfare. Efficiency and justice. Government actions in markets. Consumer surplus and producer surplus. Tax
incidence

Tema 4. PRODUCTION AND COST
Firm’s output decision. The law of diminishing returns. Average and marginal returns. Cost curves and their
properties.

Tema 5. PERFECTLY COMPETITIVE MARKETS
Competitive market equilibrium in short-run and long-run. Competition and efficiency

Tema 6. IMPERFECT COMPETITION
Marginal revenue. Model of monopoly. Deadweight loss of monopoly. Price discrimination. Strategic
interaction and oligopoly. Introduction to Game Theory

Tema 7. GDP AND INFLATION
Introduction to macroeconomics. GDP measurement. Circular-flow model of the economy. Real and nominal
GDP. Price indices and inflation.

Tema 8. LABOR MARKETS. UNEMPLOYMENT
Labor market indicators. Employment and unemployment. Income distribution and income redistribution

Tema 9. CREDIT MARKETS AND MONETARY SYSTEM
Financial institutions and capital markets. Money market. Central bank and money creation

Tema 10. BUSINESS CYCLES AND MACROECONOMIC POLICY
Short-run economic fluctuations. Aggregate supply and aggregate demand. Fiscal policy. Monetary policy
Cemectp 2
Tema 1. IorpeduTebeKuii BHIGOP

bromxernsie orpanndeHus. OTHOIICHUE MPEANOYTCHUST M (YHKIMHU TOJe3HOCTH. [lepecMOTp orpaHU4eHHOM
ontumuzanuu. llpobnema makcuMu3amuu TONE3HOCTH. ONTHUMANBHBIA TOTPEOUTENBCKUN BBHIOOpP. BhIBOA
¢byHKuui cpoca.

Tema 2. Ananu3 cnipoca
BimsiHue 1eHBI M JIOXOJHOCTH HA CHPOC. DJACTHYHOCTH CIpPOCa M MpeIokeHUs. ToBapbl HOPMAIbHOTO U

Xyauiero Kka4ecTna. 3aM€H_[€HI/I€ nu 3(1)(1)€KT OT UBMCHCHUA LICHBI. I[CKOMHO3I/IL[I/I$[ 10 CJ'IYLIKOMy.

Tema 3. Komnanuu v mpoxyKiiust



VYnpasnenne xommanueid. TexHonmoruu. IIpowsBoactBenHble ¢(yHKIMH. Bo3pamenne k mkame. QDyHKIus
CTOUMOCTH. MWUHUMH3AIMSA 3aTpaT B KPAaTKOCPOYHOM M JOJTOCPOYHOU TepcrekTuBe. KpuBeie 3atpar.
DKoHOMHS MacIiITada. DKOHOMUS 00beEMA.

Tema 4. CoBepiieHHAst KOHKYPeHIUsT
CoBepiieHHas KOHKypeHIUs. MakcUMU3aIys MPUOBLTH COBEPIIEHHO KOHKYPEHTOCTIOCOOHBIX (upM. PeiHOUHOE
paBHOBECHE B MOJENIM YacTUYHOTrO paBHOBecus. . lIpuMeHeHHe KOHKYpeHTHOM Monenu. PerynupoBaHune
croumoctu. KonnuectsenHoe perynupoBanue. Hanorosas Harpyska.

Tema 5. Poinounas BjacThb

HUctounuku pBIHO‘IHOﬁ BJIaCTH. MOI[GJ'IB MOHOIIOJIHUH C CI[HHOﬁ HGHOﬁ. KOB(i)(l)HI_II/IeHT YBCJIIMYCHHUA LCHBI U
HHACKC HepHepa. P CTryJIMpOBAaHUC MOHOIIOJIUU. HCHOBaﬂ JAUCKPpUMHWHAIWA. prrmOBa;I OCHOBadA
AUCKpUMUHALNA. KocBennas LHCHOBAA JTUCKPUMHHALIUA.

Tema 6. Crparerunyeckoe noseaeHue
OObrunbie urpel. IlpuMeHeHHMe TPUHIMIOB paBHOBecusi Hama B umcThix crpaterusix. Mogemu KpyHo u
Bbeptpana. [ToBenenne 6710k0B 1 HECTAOMIBHOCTH 010KOB. Urpsl ¢ 00mupHo#t hopmoii. OOpaTHast HHAYKIUS U
paBHOBECHE, COBEpIICHHOE MO mojbirpaM. [IpaBuna wurpel BbIxoJa Ha pbIHOK. CrakenbOeprckas Moelb
OJIUTOTIOJIU Y.

4. MarepuaJibl TeKyIIero KOHTPOJISI yCIIeBaeMOCTH 00Y4aoIuXCsl U
(oH/I OLIEHOYHBIX CPEACTB MPOMEKYTOYHOM aTTeCTAMH 0 M CIMIINHEe

41. ®opMbl U MeTOAbl TEKYILIEr0o KOHTPOJISI YCIeBaeMOCTH, 00yYAIOUIUXCS U MPOMEKYTOUHOM
aTTecTauum.

4.1.1. B xone peajqu3anuu JUCHUIIIUHBI HCMOJIB3YHOTCS CAEAYIOIIHE METOAbI TEKYIIEro KOHTPOJIA
yceBaeMOCTH 00y 4aI0LIUXCH |

HpI/I IMPOBCACHUHA 3aHITHI JICKIIMOHHOT'O THIIA. OIIPOC, TCCTUPOBAHUE,
IIpu MPpOBCACHUN 3aHATHI CEMHHAPCKOT'0 THIIA. OIPOC, TECTUPOBAHUE,

4.1.2. Jx3amen (3a4eT) NPOBOIMUTCS ¢ IPUMEHEHHEM CJIEAYIOIINX METONOB (CPeICTB):

DK3aMeH B BHUAC TCCTA U NUCHMEHHOM YacTu
DK3aMeH B BHUAC TCCTA U NUCHMEHHOM 4acTu

4. 2. MaTepuaJibl TeKyI[er0 KOHTPOJISI yCIIeBaeMOCTH 00y aloHXCH.

Cemectp 1
Tumnosble OLCHOYHBIC MATECPUAJIBI 110 TEME 1

Problem (Opportunity costs)

Peter is an economic consultant and has a job contract with a flexible time schedule. If he prefers, he can work
every day. However, he can also take a leave every day. Peter does not enjoy the process of his job. His
satisfaction from taking a leave for one day corresponds to the value of 5000 rubles. Peter’s friend suggests
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going for a day trip to St Petersburg. Peter would be willing to pay up to 15000 rubles for an opportunity to
spend a day in St Petersburg. Should Peter go for this trip if a round trip train ticket costs 6500 rubles and his
daily salary is equal to

(@) 10000 rubles,

(b) 13500 rubles,

(c) 20000 rubles.

Problem (Production possibility frontier, gains from trade)
(@) Jane’s Island’s production possibilities are given in the following table. Draw a graph of the production
possibility possibilities frontier on Jane’s Island. What are Jane’s opportunity costs of producing corn
and cloth at each output in the table?
corn (kg per month) | cloth (m per month)
3 0

2 2
1 4
0 6

(b) Joe’s Island’s production possibilities are given in the following table. What are Joe’s opportunity costs
of producing corn and cloth at each output in the table?
corn (kg per month) | cloth (m per month)

6 0
4 1
2 2

0 3
(c) Does any of the islands have absolute and/or comparative advantages in the production of corn and
cloth?

TunoBble OllEHOYHBIE MaTrepHaJabl 110 TEME 2

Problem (Demand and Supply)
Consider the following scenarios of possible changes in demand and/or supply and show in a demand-and-
supply diagram the corresponding changes on the market.
(@) What is the predicted effect on the market for crude oil (changes in price and quantity) if the costs of oil
extraction increase due to a reduction of oil reserves?
(b) What is the predicted effect on the market for cars with a high level of fuel consumption if the costs of
oil extraction increase due to a reduction of oil reserves?
(c) What is the predicted effect on the market for air traffic if many consumers no longer fly due to their
fear of safety deficiencies in air traffic?
(d) What is the predicted effect on the market for long-distance train rides if many consumers no longer fly
due to their fear of safety deficiencies in air traffic?
(e) What is the predicted effect on the market for duty-free cigarettes if many consumers no longer fly due
to their fear of safety deficiencies in air traffic?

Problem (Equilibrium and Price Regulations)

The demand for ice cream is given by P = 400- 2Qp, where P indicates the price and Q, the quantity of ice
cream demanded. The supply for ice cream is given by P = 100 + Qg, where Qg indicates the quantity of ice
cream supplied.
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(@) Draw the demand curve and the supply curve in the same diagram. Indicate the point of intersection of
demand and supply. Explain its economic meaning.

(b) Suppose that the government sets a minimum price of 300 in order to support the ice cream industry. If
this price prevails in the market, determine the quantity of ice cream demanded and the quantity of ice
cream supplied. What is the quantity exchanged in the market at this price? Show which market
participants are no longer able to buy or sell the good.

Problem (Elasticity)
The table below gives the demand schedule for coffee.
(@) What is the price elasticity of demand when the price of coffee rises from 1000 rubles to 2000 rubles per
kg? Is the demand elastic or inelastic?
(b) The revenue is calculated as the product of price and quantity. What happens to the total revenue when
the price of coffee rises from 1000 rubles to 2000 rubles per kg?
(c) What is the price elasticity of demand when the price of coffee rises from 1500 rubles to 2500 rubles per
kg? Is the demand elastic or inelastic? What happens to the total revenue in this case?
(d) What is the price when total revenue is at its maximum?
(e) What quantity of coffee will be sold at the price that maximizes the revenue? What is the price elasticity
of demand at this price? (Hint: Consider a change in price and quantity such that the revenue-
maximizing price is the average price during this price change.)

price (rubles per kg) | quantity demanded
1000 30
1500 25
2000 20
2500 15

TunoBble OllEHOYHBIE MaTrepHaJabl 110 TEME 3

Problem (Wage regulation on the labor market)

The table below gives the demand schedule and the supply schedule for university graduates on the labor

market. The quantities demanded and supplied are given in hours per day.

wage rate (rubles per hour) | quantity demanded | quantity supplied
600 900 400
700 800 500
800 700 600
900 600 700
1000 500 800

(@) What is the equilibrium wage and the equilibrium quantity of employment? What is the number of hours
of labor unemployed?

(b) If a minimum wage is set at 700 rubles an hour, how many hours do university graduates work? What is
the number of hours of labor unemployed?

(c) If a minimum wage is set at 900 rubles an hour, what are the number of hours of labor employed and the
number of hours of labor unemployed?

(d) Suppose that demand increases by 500 hours per day. If the minimum wage is 900 rubles an hour, what
is the wage rate paid to university graduates and how many hours of their labor are unemployed?
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Problem (Consumer Surplus, Producer Surplus and Deadweight Loss)
In the table below, demand and supply schedules for grape juice are given.
price (rubles per bottle) | quantity demanded | quantity supplied
0 800 0
50 700 100
100 600 200
150 500 300
200 400 400
250 300 500
300 200 600
350 100 700
400 0 800

(@) What is the maximum price that consumers are willing to pay for the 200th bottle?
(b) What is the minimum price that producers are willing to accept for the 200th bottle?
(c) Are 200 bottles less than or greater than the efficient quantity?

(d) What is the consumer surplus if the efficient quantity of grape juice is produced?

(e) What is the producer surplus if the efficient quantity of grape juice is produced?

() What is the deadweight loss if 200 bottles of grape juice are produced?

TunoBble OllEHOYHBIE MaTrepHaabl 110 TEME 4

Problem (Total factor variation)
The table below shows the production function of Mario’s Pizza-to-Go. Mario must pay $100 a day for each
oven he rents and $75 a day for each kitchen hand he hires. Labor is measured in workers per day and output, in
pizzas produced per day.

(@) Find and graph the average total cost curve for each plant size.

(b) Draw Mario’s long-run average cost curve.

(c) Over what output range does Mario experience economies of scale?

(d) Explain how Mario can use his long-run average cost curve to decide how many ovens to rent.

labor | output plant 1 | output plant 2 | output plant 3 | output plant 4
1 1 8 11 13
2 8 12 15 17
3 11 15 18 20
1 13 17 20 22
ovens 1 2 3 1

Problem (Product and cost curves. Partial factor variation)

Consider Lindt’s product schedule for “Gold Bunny” chocolate rabbits. Labor L is measured in workers’ hours
per day and the quantity Q (total product), in chocolate rabbits produced per day. The daily wage rate w (price
of labor per day) at Lindt’s factory in Kilchberg is 50 Swiss francs per day, and total fixed costs associated with
chocolate rabbits’ production are SFr 100 per day.

(@) Calculate total cost TC, total variable cost TV C, and total fixed cost TFC for each level of output Q and
draw the short-run total cost curves in a diagram with output quantities on the horizontal axis and cost
values on the vertical axis.

(b) Calculate average total cost ATC, average fixed cost AFC, average variable cost AVC and marginal cost
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MC at each level of output and draw the short-run average and marginal cost curves in a separate
diagram.

(c) Suppose that the wage rate increases to SFr 120 per day. Explain what changes occur to the short-run
average and marginal cost curves. Indicate these changes graphically.

(d) Suppose that Lindt buys a second plant and now the total product of each quantity of labor doubles. The
total fixed cost of operating each plant is SFr 100 a day. The wage rate is SFr 50 a day as originally.
i) Setout the average total cost curve when Lindt operates two plants in the graph from (b).
i) Draw the long-run average cost curve in the same graph.
iii) Over what output ranges is it efficient to operate one plant and two plants?

L Q|TC |TVC | TFC | ATC | AFC | AVC | MC
0 0
1 12
2| 24
3| 48
1| 84
51121
6| 192
7| 240
8 | 276
91300
10 | 312

TunoBbie OllEHOYHBIE MaTrepHaabl 110 TEME 5

Problem (Perfectly competitive firm)
”Vera Coffee” is one of many coffee shops in the town. It is a price taker with costs of
production shown in the table below.

output @ (cups of coffee) | total cost TC (rubles) | MC | AVC | ATC
0 50

1 300

2 450

3 560

|

D

690
, 855
6 1040
7 1240

(@) Calculate the marginal cost schedule of the coffee shop.

(b) If coffee sells for 190 rubles a cup, what is the profit-maximizing output of the firm?

(c) What is the shutdown point of the coffee shop?

(d) Over what price range will Vera Coffee leave the industry in the long run? Over what price will other
firms with the same cost structure enter the industry?

(e) What is the price of coffee in the long run if all existing and potential competitors have the same cost
structure?



13

TunoBble OllEHOYHbIE MaTrepHaJabl 110 TEME 6

Problem (Single-price monopoly)
Dolly’s Diamond Mines produces industrial diamonds and is a single-price monopoly. The tables below show
the demand schedule for industrial diamonds faced by this firm and the firm’s total cost schedule.

price ($ per kg) | quantity demanded (kg per day) | TR | MR
3200 0
3000 1
2800 2
2600 3
2400 4
2200 5
2000 6
1800 7
1600 8
1400 9
1200 10
quantity produced (kg per day) | total cost ($ per kg) | MC

5600
6200
6600
7200
8000
9000
10000
11600
13200
15000

DO s WD -

O 00 ~J

(@) Calculate the firm’s total revenue and marginal revenue.

(b) What are the firm’s profit-maximizing quantity and profit-maximizing price? Represent this decision of
the monopolist graphically.

(c) Calculate the economic profit of the monopolist. What is the consumer surplus?

(d) Does Dolly’s Mines use resources efficiently? Why or why not?

Problem (Duopoly and Collusion)
Two firms, ”Faster” and ”Quicker”, are the only two producers of sports cars on an island that has no contact
with the outside world. The firms collude and agree to share the market equally. If neither firm cheats on the
agreement, each firm makes $3 million economic profit. If either firm cheats, the cheater can increase its
economic profit to $4.5 million, while the firm that abides by the agreement incurs an economic loss of $1
million. If both firms cheat, there is a fierce competition such that both firms just break even. Both firms make
their decisions simultaneously, and neither firm has any way of predicting or monitoring the actions of the
other.
(a) Represent this strategic situation as a game. What is the set of players? What is the set of strategies
available to each player?
(b) What are the possible outcomes in this game and the corresponding payoffs? Represent the payoff
matrix of this game.
(c) Describe the best strategy for each firm in a game that is played just once. Do players have dominant
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strategies?
(d) What is the Nash equilibrium in this game if it is played just once?
(e) What is the Pareto efficient outcome? Is the Nash equilibrium of this game Pareto efficient?
(f) Does Adam Smith’s "invisible hand theorem” hold here? Why or why not?

TunoBble OllEHOYHbIE MaTepHaabl 110 TEME 7

Problem (GDP measurement)
The following table represents the macroeconomic transactions in a country that were performed last year.

transaction dollars
GDP 1,400,000
consumption expenditure 700,000
taxes 350,000
transfer payments 150,000
profits 300,000
investment 350,000
exports 400,000
savings 400,000
imports 350,000

Calculate
(@) the aggregate expenditure,
(b) the net exports,
(c) the government expenditure.

Problem (Inflation)

The people on Coral Island buy only juice and cloth. The CP1 basket contains the quantities bought in 2013. The
average household spent $60 on juice and $30 on cloth in 2013 when the price of juice was $2 a bottle and the
price of cloth was $5 a running meter. In 2014, juice is $4 a bottle and cloth is $6 a running meter.

(@) Determine the CPI basket. Calculate the CPI in 2013 and the percentage of the household’s budget spent
on juice in 2013.
(b) Calculate the CPI and the inflation rate in 2014.

TunoBble OllEHOYHBIE MaTrepHaJabl 110 TEME 8

Problem (Unemployment)

Read the following news story from the ”Business Week” that was published on the 24th of June 2008.
Michigan now holds a dubious record: It leads the U.S. in joblessness. The state’s unemployment rate
was 8.5% in May while the U.S. unemployment rate was only 5.5%. The reason is clear: Detroit’s
emphasis on big trucks and sport-utility vehicles has turned sour. But even though the official
unemployment numbers look awful, the reality is worse. The official number does not reflect those
who have given up looking for a job.

In 2010, at 13.6 percent of the state’s labor force, Michigan had the nation’s highest official unemployment rate.
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But in 2012, Michigan’s unemployment rate fell to 9 percent, a larger fall than that in the United States as a
whole. Around 11,000 businesses in Michigan produce high-tech scientific instruments and components for
defense equipment, energy plants, and medical equipment.

(@) Why was the reality of the unemployment problem in Michigan actually worse than the 8.5 percent
unemployment rate statistic in 2008?

(b) Was this higher unemployment rate in Michigan frictional, structural, or cyclical? Explain.

(c) What factor led to the favorable 2012 employment results in Michigan compared to the U.S. average?
Was this a frictional, structural or cyclical factor? Explain.

Problem (Unemployment)
Read the “Economics in the News” section on pp. 568-569 in Ch. 22 of Parkin’s “Economics” including the
Economic Analysis. Answer the following questions.

(@) How many jobs must be created each month to keep pace with a growing population?

(b) What normally happens to the unemployment rate when the pace of job creation exceeds the growth of
population?

(c) Why might the unemployment rate sometimes increase, when the pace of job creation exceeds the
growth of population?

(d) How would you expect the labor force participation rate to respond to job creation in excess of
population growth?

(e) How would you expect the increase in real GDP to affect jobs and unemployment?

TunoBble OllEeHOYHbIE MaTepHaJjbl 110 TEME 9

Problem (The loanable funds market)
In 2010, a household had disposable income of Euro 80,000, wealth of Euro 140,000, and an expected future
income of Euro 80,000 a year. At a real interest rate of 4% a year, the family saves Euro 15,000 a year; at a real
interest rate of 6% a year, the family saves Euro 20,000 a year; and at a real interest rate of 8% a year, they save
Euro 25,000 a year.
(@) Draw a graph of the household’s supply of loanable funds.
(b) Suppose that in 2011 the stock market crashes and the default risk increases. Explain how this increase
in default risk influences the household’s supply of loanable funds. Indicate this change graphically.
(c) Indicate graphically the effect of a decrease in the supply of loanable funds and an even larger decrease
in the demand for loanable funds on the real interest rate and the equilibrium quantity.

TunoBbie oleHOYHbIE MaTepuaJibl Mo Teme 10

Problem (Government in the loanable funds market. Fiscal policy)

The table below shows an economy’s demand and supply for loanable funds schedules, when the government
budget is balanced, i.e. when the tax revenue exactly equals the sum of government expenditure and transfers.
The real interest rates are expressed in % per year and the quantities of loanable funds, in billions of Euro.
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real interest rate | loanable funds demanded | loanable funds supplied
4 850 550

5 800 600

6 750 650

0 700 700

8 650 750

9 600 800

10 550 850

(@) Determine the real interest rate, the quantity of investment, and the quantity of private saving if the
government budget is balanced. Indicate this equilibrium solution graphically.

(b) Suppose that the government has now a budget surplus of Euro 100 billion. Determine the real interest
rate, the quantity of investment, and the quantity of private saving. Is there any crowding out of private
saving by the government saving?

(c) Suppose that the government has now a budget deficit of Euro 100 billion. Determine the real interest
rate, the quantity of investment, and the quantity of private saving. Is there any crowding out in this
situation?

Suppose that the government still has a budget deficit of Euro 100 billion, and the Ricardo-Barro effect occurs,
i.e. rational taxpayers respond to this budget deficit by increasing their private saving in order to finance the
budget deficit. Determine the real interest rate, the quantity of investment, and the quantity of private saving. Is
there any crowding out in this situation?

Cemecrp 2
Tunosblie OLIEHOYHbIE MATEPHUAJIBI 1O Teme 1
IMpo6nema (Broa:keTHBIE IMHAM W HAJIOTH / CyOCHINH)

HccnenoBarens pbIHKa yTBEPHKAALT, UTO JUIA CTYICHTOB €CTh BCETO JIBA OCHOBHBIX MTPEIMETA MOTPEOICHUS:
y4eOHUKHU TI0 MUKPOIKOHOMUKE U OmieTsl B kiuHO. OnuH 6uneT Ha kuHo ctout 600 pyOuield, a yueOHHUK 1O
mukposkoHomuke — 1200 py6Gueit. PaccmoTtpuM ctyaenta ¢ exxemecsanbiM 1oxonoM B 12000 py6neit.

a. 3anmummTe 6IOIl)KeTHOC OrpaHUYICHUC 3TOTO YUYCHHUKA U HapI/ICYI‘/’ITC €ro 6I-0I[}K€THYIO CTPOKY.

6. KakoBesl AJIbTCPHATUBHBIC U3JICPIKKH y‘IC6HI/IKa, BBIPAXKCHHBIC B ouetax B KMHO ? KakoBbI AJIbTCPHATHUBHBIC
HU3ACPIKKHU Ha OUJIETHI B KWHO, BBIPpA>KCHHBIC B y‘I€6HI/IKaX?

c. DKOHOMUYECKUI COBETHUK MUHHICTEPCTBA (PUHAHCOB TENEPh CUUTAET, UTO CTYIEHTBI CMOTPST CIIUIIKOM
MHOTO (HJIBMOB U CIHMIIKOM Masio yyarcsa. OH CUHTAeT, YyTo 3Ta NpobJieMa CBs3aHa ¢ HU3KUM YPOBHEM J10X0/1a
Y BBICOKOH IIeHOH y4eOHHKOB. [103TOMY paBUTEIECTBO BBOJAUT €IMHOBPEMEHHBIH nepeBo (CyOcHIpoBaHHue)
2400 py6neii B mecsau. KakoBo HoBoe orpanndenue Oroxera? CuuTaeTe 1M Bbl, UTO TENEPb CTYJECHTHI OyIyT
MoKymnath Oosbiie yaeOHUKOB? OT Kakux (hakTopax TO MOKET 3aBUCEThH?

1. OKa3bIBaeTCs, CTYICHTHI HE MIOKYNAIOT 3HAUYUTENBHO OOJIBIIE KHUT, YeM paHbile. [[paBUTebCTBO CUUTAET,
YTO OTMEHSTH Mepeaady JOX0JI0B MPAKTHYECKHA HEBO3MOKHO. [109TOMY MpaBUTEILCTBO BBOJUT ONpECIICHHBIN
(emuHM4HBIH) Hanor B pasmepe 120 pyOueii 3a Ouset B KUHO. B TO ske BpeMst 3aKyIKH y4eOHUKOB TeTeph
nojaepxkuBarotcs ad valorem cyocumueii B pazmepe 20%. 3anumimTe HOBOE OFO/IKETHOE YPaBHEHUE U
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HapncyﬁTe HOBYIO CTPOKY 6IO,Z[)KCT3.. YKaxxute HOBBIU YPOBCHB aHBTepHaTHBHOﬁ CTOMMOCTH KHHUT'H,
BBIpa)KCHHOﬁ B OmteTax B KHHO.

e. Tenepb OBLIO 3aMEYEHO, YTO YCIIEBAEMOCTh CTY/ICHTOB MO-TIPEKHEMY OCTABIISIET JKeJaTh Jryqiero. [loatomy
MPaBUTEIBCTBO PEIIACT, YTO KAKIOMY YUCHHUKY HE pa3peraeTcs MoKynarh 0osee 4 OUIeToB B KHHO B MECSII.
[Tocne cepuu CTYyJICHYECKHX MPOTECTOB 3TO OTPAHUYCHHE CHUMAETCS!, HO 3aMEHSIETCs (JIOTIOITHUTEIIBHO)
Hayiorom 50% ad valorem Ha yncTyto 1eHy OuIeToB B KHHO. [IpeicTaBiisieM 3T 1B MOJUTHKH TPaPUUSCKU.
Bbuty 11 POTECTHI CTYIEHTOB YCIEIIHBIMU, TO €CTh JIy4IlIe JIU OHU BO BTOPOH MOJIMTUKE, YeM MPU NEPBOIi?

(@) Auna maxomutcs B pecropane McDonald's u umeet 360 pyoneii. [amOyprepst (x1) ctost 120 py6uieii 3a
MOPIIHIO, a KoKa-kona (x2) crout 60 pyoOuieit 3a ctakan. OyHKIUS TOIE3HOCTH AHHBI 331a€TCsI
dopmyioit U (X1, x2) = x12x2.

(b) a. 3amummTe OrOKETHBIC OTrpaHUYCHHST AHHBI. 3alHIIUTE 00Iee YpaBHEHUE [T KPUBOI Oe3pa3muuust
AHHBI Ha IOCTOSTHHOM YPOBHE MOJIe3HOCTH U Kak GyHKIuIo X2 X1 u U.

(c) 6. B roii xe quarpamme (X1, X2) HapucyiiTe OFOKETHYIO JIMHUIO AHHBI M €€ KpUBbIC Oe3pa3inyus Ha
ypoBHsX mosie3Hoctu 4, 8 u 12. Kakoii camblii BEICOKHIA YPOBEHB MOJIE3HOCTH J1JIs1 AHHBI?

(d) c. ChopmynupyiiTe 3a1auy 0 MaKCUMU3ALUY M0JIe3HOCTH AHHBI. KakOB COOTBETCTBY MU
narpamwkuan? BerauciuTe ycinoBus epBOTO MOPS/IKA U MOTYYHUTE YCIOBUE ONITUMAIBHOCTH.

(e) 1. OObeTUHNTE YCIIOBHE ONTUMAIBHOCTH C YPAaBHCHUEM OFOKETHOM JIMHUU U ONPEIICITUTE
ontuManbHoe paccioerne. OO0OCHYITE CBOI OTBET, UCTIONB3YsI IPAPHUECKYIO HILTIOCTPALIHIO.

TunoBbie OIEHOYHbIE MATEPHAJIBI IO TeMe 2

3agaua (3¢ deKTnl 10X0/1a M 3aMelIeHHUs )

Mbspu TpaTUT CBOW OOIIUI €XKEeTHEBHBIH MPOI0BONIBCTBeHHBIN Or0 ket (30 eBpo) Ha MIOKOJA U MUPOKHBIE.
Ilena mokomnana cocTaBisieT 5 eBpo, IieHa Ha KycO4eK TOpTa - 2 eBpo. Teneps leHa Kycouka TopTa
MTOJHUMACTCS J10 6 eBpo.

a. [Ipencrasmsiite rpadudecku 10xXo U 3G (EKThI 3aMEIIEeHHUS OT ITOTO MOBBIIICHHS [[CH, €CJIU eCTh
HECOBEPIICHHAs B3aMMO3aMEHSIEMOCTh MK/ IIOKOJIAIOM H MUPOKHBIMU. PacCMOTPUM BCe BO3ZMOKHBIE
clIydau.

0. Ha nquarpamme nokaxwure 3¢dext goxona u 3pdHeKt 3aMenieHns 0T 3TOr0 MOBBIIICHUS ICHbI HA
noTpedicHre 000X TOBAPOB, €CIIM OHU SIBITIOTCS UCaTbHBIMU (OIMH K OJTHOMY) 3aMEHHUTEIISIMU.

c. Ha nuarpamme mokaxkute 3dekt g1oxoaa u 3pQPeKT 3aMeIIeHus OT ITOTO MOBBIIICHHS [ICHBI HA
notpedicHre 000X TOBAPOB, €CJIM OHU SIBIITIOTCSI COBEPIICHHBIM (OUH K OJJHOMY) JOTIOJTHCHUEM.

3agaua (KoOpoTKHe BOMPOCHI)

1. Vcnone3ys 3MaCTUYHOCTD JI0X0/1a U IICHOBYIO JIACTHYHOCTD CIIPOCA, OTIPEICIIUTE MOHSATHS HU3IIEro OJara,
HOopMasbHOTO Onara, ['uddena.

2. SIBISIFOTCS JTK CIEYIOIUE YTBEPIKIACHUSI HCTUHHBIMU FUTH JIOXKHBIMH:

- «Xopomwuii ['udden - 3To Bceraa mioxoe 61aro».

- «[Tnoxoe 1oOpo Beerna sBIsieTcs: Xopomum nojapkom ['updena.

3. UestoBeK TpaTUT BeCh CBOI 10X01 Ha ToBaphl A u B. Ero TpeboBanue k A SBJISIETCS JIACTHYHBIM I10
OTHOIICHUIO K COOCTBEHHOM IIeHE. SIBIISIETCSI TN ClIeAYIONIee YTBePKICHHE UCTUHHBIM HITH JIOKHBIM:
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«[ToBblmenue 1eHsl 11 Xopouero A 00s13aTeIbHO MPUBEIET K 00Jiee BHICOKOMY YPOBHIO ITOTPEOICHHUS
xoporiero B»

TunoBble oLleHOYHbIE MaTePHAJIbI IO TeMe 3

IIpo6aema (nmpenejbHasi MPOU3BOAUTEIBHOCTH M 0T/Ia4a OT MacIITada)

ITycTh TexHOJIOTHS TPOU3BOJCTBA (hUPMBI OY/ET NpeocTaBiIeHa IPOU3BOACTBEHHON dyHKInel Koboa-
Hyrinaca

a. SIBisieTcs JIM 3aKOH OIPaHUYEHHOM MPEIEIbHON TOXOJHOCTH BCETa YAOBIETBOPEHHBIM I STON
TEXHOJIOTHH, €CITU KanuTal GpukcupoBaH B enuHuIax K?

6. KakoBa cBs13b MeXy apaMeTpamHu o U 3 JaHHOW MPOU3BOACTBEHHOHN (DYHKIIMM U CBOMCTBOM IMOCTOSHHOI,
YBEJIMYMBAIOIIEH MM YMEHBIIAIOIIEH OTAa4YM OT MaciiTadba?

B. OHpC,I[CJ'II/ITC IpeaACIIbHYIO MPOAYKTUBHOCTH o0onx (baKTOPOB MMPOU3BOACTBA, a4 TAKKC MPEACIIbHYIO CKOPOCTbh
TEXHUYECCKOM 3aMCHBI.

r. BeiBetuTe ypaBHEHHE U30KBAHTA IS TIOCTOSTHHOTO BBIXOHOTO ypoBHs Q. Hapucyiite HECKOIBKO
n30kBaHTOB B (K, L)-poctpancTse.

3anaua (kpaTkocpouHbie (PYHKIHH 3aTPAT)

[MycTh npousBoacTBeHHas GpyHkIms Gupmer 3aaaercs Gopmynoi Q = F (K, L) = 3KL. B kpatkocpounoit
nepcnekruse kanurtan (K) ukcupyercs Ha 2 equaunpl. [leHa equHUIB KanuTana (apeHHas CTaBKa KauTala,
MPOIICHTHAs CTaBKa MO (PMHAHCOBOMY KaIlMTay) pPaBHA 3 JICHS)KHBIM STUHUIIAM, [ISHA IMHUIIBI paboYei CUITBI

(craBKa 3apabOTHOM IUIAThI) paBHA 2 JCHEKHBIM CIHHHIIAM.

a. CKoJIbKO paboyei CrItbl Hy’)KHO HCIIOJIb30BaTh (hupmMe Uit Tpou3BoacTBa Q-enunul] ToBapa? OCHOBBIBAsCH
Ha 3TOM pe3ylibTaTe, KakoBa 0011asi CTOMMOCTh (DUPMBI Kak (DYHKIIUSI BBIXOTHOTO YpOBHS Q7

0. Hapucyiite kpusbie o0mieii croumoctu (TC), mepemennoii cronmoct (VC) v GUKCUPOBAHHONW CTOUMOCTHU
(FC) na omHoM rpaduxke.

c. Hapucyiite kpusie cpenneii (o6meit) croumoctu (AC), cpenneii nepemennoit croumoctu (AVC) u
npezaesibHoi croumoctu (MC) Ha BTopoMm rpaduke.

Tunosble oLleHOYHBIE MATEPHAJIBI 0 TeMe 4
3anaua (KpaTKOCPOYHOE U J0JITOCPOYHOE PHIHOYHOE PABHOBECHE)

PaccmoTpum dupmy, kotopast padoTaet ¢ ¢pynkuueit croumoctr (FC: hukcupoBaHHas CTOMMOCTb, (|: YPOBEHb
BBIITYCKa).

a. BeiBeiuTe ycI0BHE ONTUMAILHOCTH ISl KPATKOCPOYHOTO MPOU3BOICTBEHHOTO perieHus Gupmbl. [Tlokaxute
(bopManbHO, YTO BBI ICHCTBUTENILHO HALILTA MaKCUMaIbHYIO PUObLTH ([ToacKka3ka: HCOap3yiTe TecT 2-i
MIPOM3BOTHOM).

0. I[J'I?I KaKHNX BO3MOXHBIX ypOBHGI\/'I IEH P 3Ta (bl/IpMa 6YI[€T IIOCTABJIATD ITOJIOKHUTCIIBHOC KOJIMYCCTBO B
KpaTKOCPOLIHOI;'I HCpCHCKTI/IBC? KOFI[a BJIaZICJICT NOJIYHYACT IMOJIOKUTCIIBHYHO HpI/I6BIJ'IB? KaxkoBa KpaTKOCpOYHaAa
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GyHKIHS npeanoxeHust 3Toi pupmbl? KakoBa coBOKyIHas ppiHOYHAS (DYHKIUS MPEAJIOKEHUS B cirydae N
UACHTUYIHBIX pupm?

c. Kak ObI Bair oTBET M3MEHHIICS, €CIT (PUKCHPOBAHHYIO CTOMMOCTh MOYKHO U30€KaTh B CIIydae CO3TaHHS
HYJIEBOTO YpoBHs Bbixoja, T. €. [Ipu > 0 u C (0) = 0, kakoBa nonrocpoyHas ()yHKIUS TOCTaBKU 3TOH (HUPMBI?
KaxoBa coBokymHast ppIHOYHAsI ()yHKIIHSI TPEJIOKEHHS B CTy4ae N HISHTHYHBIX (GUpM?

1. Jnst mpoctoTsl npennonoxuM, uto FC = 1. [Tycth cripoc Ha peiHKe OyaeT onpeaensTbes mo Gopmyne Qd =
100 — 5p. Ckonpko 0iMHAKOBBIX GUpM OyzeT paboTaTh Ha ITOM PBIHKE?

3agaua (YOBITOK OT IOTEpH Beca)

[TycTh peiHOYHBI cripoc OyzaeT onpeaensiThes popmynoit Yd (p) = 100 — 2p, a peiHOYHOE NpeioxKeHue — Y'S
(p) = 4p - 20.

a. Onpeﬂenme PaBHOBECHYIO ICHY U PABHOBCCHOC KOJIMUCCTBO HA 3TOM PBIHKC.
0. OHpCI[CJ'II/ITe HOTpC6I/IT€HBCKI/II71 H3JINIICK, U3JIMIICK ITPOU3BOAUTCIIS U 0/1aroCOCTOSIHHE B 3TOM PaBHOBCCHH.

c. PaccmoTpum equHn4HBIN Hanor (YAeIbHBINA HAJIOT) B pazMepe 7,5 py0., B3UMaeMblil IPaBUTEIBLCTBOM 32
MPOAAHHYIO €IMHUILY TPOAYKIIUH, TO €CTh OH JOJDKEH OBITh OIUIaYeH MocTaBiKaMu. [IpencrtaBbTe 3Ty HOBYIO
cutyanuio rpadpudecku. OnpenesmTe 1eHy nmokymnarels (OpyrTo) u npoaasia (HETTo), a TAKIKE KOJIHIECTBO
pPBIHKA B ’TOM HOBOM PaBHOBECHH.

1. PaccunTaiiTe ypoBHU MOTPEOUTEIHCKOTO U3IIUIIKA, TPO(HUIINTA TIPOU3BOIUTENS, HAJIOTOBBIX MOCTYTUICHUH U
COLIMAJIBHOTO 00ECIIEYeHHsSI B 9TOM PaBHOBECHH MPH Hajoroobnoxennu. KakoBa moreps B ne1BenTe
(130BpITOUHOE Opemst) Haorooboxenus ? [IpeacTaBpTe 3Ty MOTEPIO Beca Ha Jrarpamme.

TunoBble OLlEHOYHBIE MATEPHAJBI MO TeMe 5
3asaya (MOHOMIO/IMS HA eTHHYIO IEHY)

PaccMmoTpum peIHOK ¢ 0OpaTHOM QyHKIHeH cripoca pPg = a - b, rae a u b - nonoxuTebHbIE KOHCTAHTHI.
OyHKIMS CTOUMOCTH paccMmarpuBaeMoit Gpupmsl - 310 C () = ¢g, re 0 <c < a.

a. [IpenmnonoxxuM, 4to 3ta Gpupma siBisercs reHoi. Onpenenante paBHOBECHYIO IIEHY U KOJIMYECTBO MPHU
ueabHOM KOHKYpeHInH. PaccunTtaiite mpuObUIb 3T0# (pUpMBI, TOTPEOUTEIBCKUNA U3IHILEK ¥ COIUAIEHOE
onmarococrosiaue. [IpencrapnsiiTe cBoe penieHrne rpapudecKu.

0. Tenepp mpeANoNOXuM, 4TO 3Ta GUpMa 00J1aJaeT BEICOKUM YPOBHEM PHIHOYHOM BIIACTH U 00JIaaeT
MOHOMOJUCTHYECKOW no3uImeid. OmnpeaenuTe eHy ¥ MPOIEHT NPUCYTCTBUS 3TON (PUPMbI KAK MOHOIIOJIUCTA.
[TpencraBbTe pemieHne 3TOro MoHomnoaucTa rpaduaecku. CpaBHUTE pe3yNIbTaThl ¢ pe3yiabTatamu b (a).
Paccuwnraiite mpuObUIb ATON (GUPMBI, TOTPEOUTENBCKHIA N3IUILIEK U COLMAIBHOE 0J1arococTosHue. SIBseTcs Jin
moHonosucT [lapero-3¢pekTuBHBIM?

C. TCHCpB MMpaBUTCIBCTBO BBOAUT e,Z[HHBIﬁ HaJor, nonnemamnﬁ yijiaTe MOHOIIOJIMCTOM. KakxoBo n3menenune
IICHBI, YCTaHOBHGHHOﬁ MOHOIIOJINCTOM U HpOI/I3BOI[I/IMOI‘/‘I HpOHYKHHCﬁ?

3anaya (MoHOMOHS ¥ 3JIACTHYHOCTD)
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Monomnonuct A IIPOU3BOAUT TOBApP Y C CAMHCTBECHHOI'O BX0Ja X C TEXHOJIOTUEH IIPOMU3BOACTBA Y = 2X.

Bxonnas rieHa W paBHa 16. Y MOHOIMOJIMCTA €CTh TOYHast HH(OpPMAIIKs O CIPOCE Ha €ro TOBap, KOTOPbIi
3ajaercst pyHKIuen (HopMasHOTo) cripoca y (p) = 20 — p.

a. Onpenenure QyHKIMIO CTOMMOCTH 3TOTO MOHOTIOJUCTA. PaccunTaiite MakCUMU3HpYIOLee MPUObLIb
KOJIMYECTBO U MAKCUMH3UPYIOIIYIO TPUOBLIH 1ieHy. [IpenctaBpTe 3TOT rpadik MaKCUMH3AINH TPUOBLTH
rpaduvecKu.

0. KakoBul 3aTpaThl Ha OAHY JOIOJHUTCIIbHYIO CANHUILY HpOI[yKL[I/II/I? HO‘ICMy HOTCHL[I/IaJ'IBHHﬁ pocT o0obeMa
MMpOU3BOACTBA HE BBITOJACH IJIsI 3TOI0O MOHOIIOJIHNCTA, XOTA JOIMOJHUTCIIBHBIC 3aTPaTbl HUXKE prHO‘IHbIX?

C. OnpenenHTe HEHOBYIO 3JIaCTUYHOCTDL CIIPOCA B MAKCUMU3UPYIOIIEM HpI/I6BIJ'IB PaBHOBECHH MOHOIIOJIMUCTA.
HO‘ICMy MOHOIIOJIMCT HUKOI'Ja HE BBI6I/Ipa€T OINITUMAJIbHYIO LICHY B HEYIIPYT'OM PETrOHC CHpOC&?

1. Kakum Obi1 Ob1 ypoBeHb POQUIMTA TPOU3BOIUTEIIS, €CIIA OBl Y 3TOT0 MOHOTIOJIMCTA ObLJIa BO3SMOXHOCTh
ujeanbHo (1-i cTerneHu) IICHOBOW TUCKPUMUHAIIU?

TunoBbie OlleHOYHbIE MATEPHAJIBI IO TeMe 6

3amaua (nyononus KypHo ¢ acHMMeTPUYHBIMH H3/I€PKKAMHM)

[Mpeamnoynoxum, 4To Ha POCCHICKOM PBIHKE €CTh TOJBKO JiBe aBuakommnanuu, S7 (pupma 1 ¢ Gonee HU3KOM
CTOMMOCTBIO) B «Adpoduior» (pupma 2 ¢ OoJiee BHICOKOI CTOMMOCTBIO). [Ipeanookum, 4To 3T pa3TuIHbIe
bynkun 3arpat 3agarorcs popmynamu C1(yl) = clyl u C2(y2) = C2y2 NOCTOSSHHBIMH CPETHUMH U3/ICPIKKAMH
st pupM (a), YIOBICTBOPSIIOIIKUX YCIOBUIO ¢1<C2<a.

KoHkypc Ha ppIHKE aBUAKOMITAHUH MOKHO OXapaKTEepH30BaTh KaK OJHOBPEMEHHYIO KOJIMYECTBEHHYIO
koHKypeH1mo. [1ycTh cripoc Ha peiHKe Oynet onpeaenstees Gopmynoit (Y)=a—-bY, e Y =yl +y2u
0003HaYaeT MPEJIOKEHHE PHIHKA.

a. Paccumraiite pynkium peakuun ooenx ¢pupM. OOpaTuTe BHUIMAHUE, YTO YIIIOBBIE PEIICHUS BO3SMOXKHBI.
[IpencraBnseM GyHKIMU peaKHK TpadUIeCKu.

0. Onpenenute paBHOBecue KypHo-Hama. Paccunraiite oTnenbHbie pe3ylnbTarhl, BEIXOJ] Ha PHIHOK, PHIHOYHYIO
[EHYy ¥ PUOBUTH PUPM B PAaBHOBECHUH.

3anaua (urpa Ha pbIHKe)

PaccMoTpuM CIeAyIONIYIO IBYXATAHYIO UTPY MEKAY JCHCTBYIOIMM MOHOTIOIUCTOM (MTPOKOM 2), KOTOPBIi
VIIPABIISET SAMHCTBEHHBIM CYIIEPMAapKETOM B TOPOJIC, U MOTCHIIMAIbHBIM YYaCTHUKOM (UTpOKOM 1), KoTOphIii
yIpaBisieT HeOOIBIIUM MPOYKTOBBIM MarasuHOM, HO MOKET 3allyCTHTh KOHKYPUPYIOIIHI cyriepMapkeT. B
CBOEM IIEPBOM X0y UTpoK 1 pemiaert, BbIiiTH Jin Ha PBIHOK (neiicTBue «Bxoa») wim Het (neiicrBue «Her
BX0J1a»). Eciii OH He BOW/IET, OH JJOCTUTHET HYJICBOW S3KOHOMUYECKOU MPUOBLTH (ITPOYKTOBBIH CEKTOP SBIISICTCS
BITOJIHE KOHKYPEHTOCIIOCOOHBIM), TOT/Ia KaK UTPOK 2 MOJTy4aeT MOHOTIOJMCTHYECKYIO MPUOBLIEL B pa3Mepe 2
MUJIMOHOB PyOJIEH.

Ecnu, ogHako, urpok 1 BBIXOAUT Ha PHIHOK, UTPOKY 2 TPUXOJUTCS peuiaTh, OObSBIATH JIU IICHOBYIO BOMHY
arpeccMBHOM peKJIaMHOW Kamranuei (nefictBue «boii»), 4To mpuBeneT K yobITKaM 00eux GpupM B pazmepe 1
MJTH. pYOJIei, T. €. BRIUTPHINI paBeH 1, wiu npuHATh 3anuch (aerictBue «[Ipnodpectu») u KOHKYpHPOBaTh C
abUTypuEeHTOM B KOJIM4ECTBaxX. B mocieqHem ciydae 06a morydar AyornoibHy0 TpuObLIb B pa3Mepe 1 MitH.
pyoieii.

a. [IpencraBbre 3Ty Urpy B 0OIIMPHON POpME, TO €CTh B KA4ECTBE UTPOBOTO JiepeBa. CKOJIBKO MOATeMOB B
sTOM urpe? Haiiure Bce MOABHITOTHBIC PABHOBECHS ITyTeM 0OpaTHO M WHAYKIIUH.

0. KakoBsl cTparerun o6oux urpokos? Teneps nmpeacTaBsTe 3Ty UTPY B HOPMATIBHO U (pOopMe 1 HalIUTE BCe
paBHOBecus Hamia (B YMCTHIX CTpATErusx).
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c. Kakue paBHoBecust Hama He sBisitoTCs yaydieHHpIMU? KakoBa sKoHOMHYECKas MHTYHLHS 32 BallIUM
pe3ynsTaTom?

4.3. OueHoYHBIE CPEACTBA /Il IPOMEKYTOYHOM aTTeCTANHUU.

4.3.1. ®opmMupyemMble KOMIIETEHIIMU

Kon HaunmenoBanwe Konx sTama ocBoeHus HaunmenoBanue dtamna
KOMIIETEHI[HH KOMIIETEHIIUU KOMITETEHI[HH OCBOEHHSI KOMIIE TEHIIHH
YK-9 CnocobHOCTh YK-9.1 Cnocoben HCII0Jb30BaTh
HCITIOJIB30BaTh  OCHOBBI SKOHOMHUYECKHE 3HAHUA IS
SKOHOMHUYECKUX 3HAHUI [MOHAMAaHUA u OIIEHKHU
B pasIuuHbIX cdepax MIPOIIECCOB B DKOHOMHUYECKOM
JEATEITBHOCTH chepe xu3HH OOIIECTBA Ha
pa3IMYHBIX YPOBHSIX.
VK-9.2 CnocobeH  oneHuBaTb H
apryMEHTUPOBATH
COOCTBEHHYIO TOYKY 3pCHUS
o HKOHOMHYECKHM
npobjieMaM H  pa3IUYHBIM
acIleKTaM COIHAIBHO-
DKOHOMHYECKON  IOJUTHKHU
rocyJaapcTBa

4.3.2 TunioBbI€e OLIEHOYHbIE CPEICTBA

Cemecrp 1
PART I: MULTIPLE CHOICE QUESTIONS. (2 points per question, up to 40 points overall)

In Part |, there are 20 questions. For each question, there is exactly one true answer option. Please choose the true options
and indicate them clearly in the empty fields on the right-hand side of the page.

Ice cream (millions of gallons per year)

o 1 2 3 4 5
Milk (millions of gallons per year)
1) The figure above shows the production possibilities frontier for a country. A combination of 4 million 1) _B
gallons of milk and 4 million gallons of ice cream is

A) unattainable and production efficient.
B) unattainable.



C) attainable and production efficient.
D) attainable and production inefficient.

22

E) More information is needed to determine if the point is attainable or not.

Wine (thousands of bottles per year)

2) The above figure shows the production possibility frontier for a country. Suppose the country is producing

3 6 9 12 15
Rice (tons per year)

at point B. What is the opportunity cost of increasing the production of rice to 12 tons?

A) 9 thousand bottles of wine

B) 6 thousand bottles of wine

C) 12 tons of rice

D) 15 thousand bottles of wine

E) Nothing, the opportunity cost is zero.

Fish (thousands of pounds per year)

5110 [0 W—

- | French PPF |

0

100 200

300 400 500
Wheat (thousands of bushels per year)

3) The figure above shows the production possibilities frontiers for the United Kingdom and France. What is
the opportunity cost of one bushel of wheat for the United Kingdom?

A) 200 pounds of fish
B) 1 pound of fish

C) 2 pounds of fish

D) 1/4 of a pound of fish
E) 1/2 of a pound of fish

4) The figure above shows the production possibilities frontiers for the United Kingdom and France. If the
United Kingdom and France specialize and engage in trade, the United Kingdom will export

and France will export
A) wheat; wheat
B) nothing; nothing
C) fish; wheat
D) fish; fish
E) wheat; fish

5) In arecession, consumers have less income to spend. As a result, if dining out is a normal good, then

2) _B___
3 B
4 _C___

whi ch of the



following
would
happen to
the
demand
curve for
dining
out?
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5)

A) The demand curve would shift rightward.

B) The demand curve would not shift but the price of dining out would rise.
C) The effect on the demand curve is unknown.

D) The demand curve would shift leftward.

E) The demand curve would not shift but the price of dining out would fall.

6) Oil refiners can refine a barrel of petroleum so that it yields either more home heating oil or more diesel

7)

fuel. If the price of diesel fuel falls, there is
A) an increase in the supply of home heating oil.
B) an increase in the demand for home heating oil.
C) a decrease in the supply of home heating oil.
D) a decrease in the quantity of home heating oil supplied.
E) an increase in the quantity of home heating oil supplied.

Salads (per hour)
40 4

357

30 ¢

50 YR s "

a | Liz buys
; J | 20 salads
Joe buys 10 -8 L | from Joe
"\ | smoothies : %
' from Liz \

Liz's
PPF

10 15 20 25 30 35 40
Smoothies (per hour)

The figure above shows Liz's and Joe's production possibilities for Salads and Smoothies.
Using the figure, suppose with no trade Liz and Joe each produce at point A on their respective PPFs.
Then, Liz suggests that they specialize and trade. She would produces only smoothies and Joe would
produce only salads. Then she would sell 10 smoothies to Joe at a price of 2.5 salads per smoothie. In this
scenario,

A) Liz gains 5 smoothies, and Joe gains 10 smoothies.

B) Liz gains 10 smoothies and 5 salads, and Joe gains 5 smoothies.

C) Liz gains 5 smoothies and 5 salads, and Joe loses 5 salads.

D) Liz gains 10 smoothies, and Joe loses 5 smoothies.

E) Neither of the individuals gains from trade.

6) _A

7 _B___
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Price Quantity demanded Quanfity supplied
(dollars per gallon) (gallons of gasoline) (gallons of gasoline)

3.73 337 582 441 074

3.68 396,398 428,008

3.65 412 031 412 031

36 417 899 391 665

8) The table above shows the situation in the gasoline market in Tulsa, Oklahoma. If the price of a gallon of 8) B
gasoline is $3.62, then

A) there is a surplus of gasoline in Tulsa.

B) there is a shortage of gasoline in Tulsa.

C) the gasoline market in Tulsa is in equilibrium.

D) Without more information we cannot determine if there is a surplus, a shortage, or an equilibrium in
the gasoline market in Tulsa.

E) There is neither a surplus nor a shortage, but the market is NOT in equilibrium.

9) The demand for oranges increases while the supply decreases. The equilibrium price of oranges . 9) D
and the equilibrium quantity

A) falls; perhaps changes but we can't say if it increases, decreases, or stays the same

B) rises; decreases

C) falls; increases

D) rises; perhaps changes but we can't say if it increases, decreases, or stays the same

E) does not change; perhaps changes but we can't say if it increases, decreases, or stays the same

10) The technology associated with manufacturing computers has advanced enormously. This change has led 10) A
to the price of a computer and the quantity _
A) falling; increasing
B) falling; not changing
C) rising; increasing
D) falling; decreasing
E) rising; decreasing

Price (dollars per HD TV) Price (dollars per HD TV)

l S -;\ S

D, D,
D 1 D 2
Quantity (TVs per month) Quantity (TVs per month)
Figure A Figure B
Price (dollars per HD TV) Price (dollars per HD TV)
Sy Sy

I S, l S

D D

Quantity (TVs per month) Quantity (TVs per month)
Figure C Figure D

11) The above figures show the market for HD televisions. If cable television providers lower the price of 11) A
providing HD cable service, which figure shows the effect of this change?
A) Figure A
B) Figure B
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C) Figure C
D) Figure D
E) None of the figures represent this change.
Price Quantity demanded
(dollars per skirt) (skirts per year)
20 30
35 25
12) Using the data in the table above, when the price of a skirt rises from $20 to $35, what is the price 12) A
elasticity of demand? (Use the midpoint method.)
A) 0.33 B) 3.00 C) 1.00 D) 1.33 E) 0.25
13) If a 10 percent increase in income leads to a 5 percent decrease in the demand for a good, the income 13) _C
elasticity of demand equals and the good is good.
A) -5; an inferior
B) 2; a normal

C) -1/2; an inferior
D) -2; anormal
E) 1/2; a normal

14) Which of the following is true?

14) _E_
i. Thesupply of a good is inelastic if when its price changes, the percentage change in the quantity
supplied exceeds the percentage change in price.
ii. Price elasticity of supply equals the percentage change in the quantity supplied divided by the
percentage change in price.
iii. If demand is price elastic, a rise in price leads to a decrease in total revenue.
A) onlyi B) only ii C) only iii D) iandii E) ii and iii
Price (dollars per pizza)
0 5 10 s 20
Quantity (thousands of pizzas per day)
15) The figure above shows the market for pizza. If pizza production is restricted to 5,000 pizzas a day, the 15) _C_
deadweight loss is
A) $22,500 per day.
B) $45,000 per day.
C) $25,000 per day.

D) $12,500 per day.
E) zero.
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Price (dollars per DVD)
22 b

i

0 100 200 300 40

0 500 6
Quantity (thousands of DVDs)

T

00 70

16) The above figure shows the market for DVDs. The government decides that all citizens deserve to watch

affordable DVDs so a price ceiling of $12 per DVD is placed on DVDs. After this price ceiling is in effect,

deadweight loss equals

A) $800,000 B) $1,800,000

C) $400,000 D) $200,000
Quantity of Labor (workers) 0|12 |3|4]|5]|6
Total Product (units per hour) 0|2 |5|9]|15|18|17

E) $1,600,000

17) The table above shows the total product schedule for The X Firm. Decreasing marginal returns occur with

the worker because _
A) 6th; output starts to decline

B) 5th; the marginal product of labor for the 5th worker is less than the marginal product of the 4th

worker
C) 4th; output reaches is maximum
D) 5th; the average product of labor is also declining

E) 6th; the marginal product of labor is greater than the average product of labor

18) As we observe the cost curves graph, we see that the
A) ATC curve always has a negative slope.

B) MC curve intersects the AVC curve and ATC curve at their minimums.

C) MC curve intersects the ATC curve at its maximum.
D) MC constantly falls as output increases.
E) MC curve cannot be U-shaped.

16) _A___
17) _B___
18) _B___
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Revenue and cost (dollars per unit)

0 10 20 30 40 50
Qutput (units per day)
19) The above figure shows a perfectly competitive firm. If the market price is more than $20 per unit, the 19) D
firm

A) will definitely shut down to minimize its losses.

B) will stay open to produce and will make zero economic profit.

C) will stay open to produce and will incur an economic loss.

D) will stay open to produce and will make an economic profit.

E) might shut down but more information is needed about the fixed cost.

20) To maximize its profit, a single-price monopoly produces the amount of output so that its marginal 200 _D
revenue

A) is less than its marginal cost.

B) exceeds its marginal cost but not necessarily by as much as possible.
C) equals zero.

D) equals its marginal cost.
E) exceeds its marginal cost by as much as possible.
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PART II. PROBLEMS.
PROBLEM 11-1. (30 points)

The demand and supply schedules for blueberry muffins are given in the following table.

Price Quantity Quantity

(rubles per demanded supplied
muffin) (millions per day)
10 8 0
15 7 1
20 6 2
25 5 3
30 4 4
35 3 5
40 2 6
45 1 7
50 0 8

a) Sketch the demand and the supply curves below. Determine the equilibrium quantity and the
equilibrium price. (8 points)

b) Calculate the consumer surplus, the producer surplus and the total surplus in this market
equilibrium. (8 points)

CS =0.5*%(50 - 30)*4 =40
PS =0.5*(30-10)*4 = 40
TS=40+40=80

c) Suppose that government introduces a unit tax on buyers of 20 rubles a muffin. What will be
the new price paid by the buyers and the new price received by the sellers? (8 points)
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Q=2

Ps=20

Ps =40

d) How is the total tax burden distributed between the sellers and the buyers? Explain how this
distribution of the tax burden is related to the elasticities. (6 points)

Each side pays %2 of the total tax burden. The distribution of the tax burden between sellers and
buyers is determined by the elasticities of demand and supply. Since the price elasticity of
demand is -1.5 and the price elasticity of supply is 1.5 at the market equilibrium, the tax burden is
distributed equally between buyers and sellers.

PROBLEM 11-2. (30 points)

(@]

I

Price (dollars per unit)

w

0 10 20 30 40 50 60
Quantity (units per week)
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Consider the demand and supply curves for a consumption good in the graph above.

a) Explain which curve shows the marginal benefits and which curve shows the marginal cost.
Is the marginal cost increasing or decreasing and why? (5 points)

The downward-sloping demand curve shows the marginal benefits. The upward-sloping supply
curve shows the marginal cost. The marginal cost is increasing with more production. This is
because the supply curve corresponds to the part of the marginal cost curve that lies above the
average cost and is upward-sloping. The economic reason is that, typically, the firm exploits
gains from division of labor and specialization and produces quantities such that additional
production can only occur with more than proportionate usage of production factors that become
scarce and thus more costly.

b) Explain which curve shows the marginal willingness to pay of the consumers. How does it
change with more consumption and why? (5 points)

The willingness to pay of the consumers is represented by the demand curve. The vertical level of
each point on this curve indicates the additional benefit and thus the maximum willingness to pay
for an additional unit of the good. Since consumers’ marginal benefit decreases with more
consumption, they are not willing to pay as much as for the first units of the good. Therefore, the
marginal willingness to pay for the good is decreasing.

c) What are the equilibrium quantity and the equilibrium price in this market without
government intervention? Is this outcome (Pareto) efficient? Why or why not? (5 points)

Without government intervention, the equilibrium quantity is 30 and the equilibrium price is 3.
This outcome is Pareto efficient as it is an outcome of a perfectly competitive market. By the 1st
theorem of welfare economics (invisible hand), every perfectly competitive market equilibrium is
Pareto efficient since it is impossible to attain a higher level of social welfare (sum of producer
and consumer surplus).

d) Describe how this outcome will change if the government introduces a maximum price of 2
dollars. What will be the quantity sold and bought? What is the efficiency loss of the society?
(5 points)

With a maximum price of 2, the quantity demanded is 40 and the quantity supplied is 20. Thus,
there is an excess demand of 20. The quantity sold is determined by the supply side and amounts
to 20. The deadweight loss is 0.5*(4-2)*(30-20)=10.

e) Now assume that the government introduces a quota of 10 units per week. What are the
possible market prices in this situation? What is the efficiency loss of the society? (5 points)

With a quota of 10, the maximum willingness to pay of the buyers is 5 whereas the lowest acceptable
price for the producers is 1. The deadweight loss is 0.5*(5-1)*(30-10)=40.

Cemectp 2
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Part A (27 points): True (T) or False (F) with brief explanation

(2 points for each correct choice, 1 point for each correct explanation)

1.

ot

The optimal commodity bundle of a utility-maximizing consumer
1s always located on this individual’s budget line.

Explanation:

Let the utility function of a consumer be given by u(z,z9) = 2z + 3.
With prices p; = 4, ps = 6 and a positive income, he may demand positive
quantities of both goods in his optimum.

Explanation:

In the case of a price increase, the substitution effect is
either negative or zero.

Explanation:

The aggregate market demand curve for a private good results from a
horizontal addition of individual demand functions for this good.

Explanation:

If the marginal rate of substitution between good 1 and good 2 is larger
than the price ratio p;/ps, the individual e.g. with the utility function

f(z1,29) = 292}~ where 0 < a < 1 should demand less of good 1 and more

of good 2 to attain his optimal commodity bundle (7, z3).

Explanation:

gl
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B
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In the case of inferior goods, the Engel curve always exhibits a region
where it 1s downward sloping.

Explanation:

The marginal rate of technical substitution between two production
factors measures the slope of an isocost line.

Explanation:

The point of intersection of marginal cost and average total cost curves
corresponds to the output level, at which the average total cost function
attains its minimum.

Explanation:

Let the technology be given by a substitutional production function
f(L,K) = L+ 3K. Then the input combination (L, K) = (2,2) cannot

be optimal.

Explanation:

OoT OF

OT OF

OT OF

OoT OF
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Part B (18 points): Multiple Choice

(2 points for each correct choice; exactly 1 of 4 options is true)

1. If an increase in the price of jeans leads to an increase in the demand of tennis shoes,
then jeans and tennis shoes are
[ inferior goods
[] substitutes
[] normal goods
[1 complements
2. When the substitution effect due to a lower price 1s more than compensated by the
mncome effect, the good in question is
[1 an inferior good
[1 a substitute good
[1 a normal good

[0 a complementary good
3. Which of the following statements 1s true?
[0 The minimum of the short run cost function must be the same as the minimum
of the long run cost function.

] The maximum of the short run cost function must be the same as the maximum
of the long run cost function.

[0 The minimum of the short run cost function cannot be lower than the minimum
of the long run cost function.

[1 The mimimum of the short run cost function cannot be higher than the mini-

mum of long run cost function.

4. Pencils sell for 20 rubles, and pens sell for 40 rubles. If a student is maximizing his
utility by buying positive quantities of both pencils and pens, his marginal rate of
substitution will be:

[0 2 pencils for each pen.

[ 1 pencil for each pen.

[0 1/2 pencil for each pen.

[0 We cannot tell with the given data.
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5. Suppose that Adam spends all his income on apples and oranges that are both
normal goods. If the price of apples increases and the price of oranges does not
change, then

[] the income effect of the price change makes him buy more oranges, and the
substitution effect also makes him buy more oranges.

[ the income effect of the price change makes him buy more oranges, and the
substitution effect makes him buy fewer oranges.

[ the income effect of the price change makes him buy fewer oranges, and the
substitution effect makes him buy more oranges.

[1 the mcome effect of the price change makes him buy fewer oranges, and the
substitution effect makes him also buy fewer oranges.

6. In the short run, when the amount of capital is fixed, the expansion path is

[0 horizontal.
[0 wvertical.
[] diagonal.

[1 We cannot tell with the given information.
7. The slope of the isocost line tells the firm how much
[] capital must be reduced to keep total cost constant when hiring one more unit

of labor.

[ capital must be increased to keep total cost constant when hiring one more
unit of labor.

[ the 1socost line will shift outward if the firm wishes to produce more.
O capital must decrease to keep output constant when labor increases by one

unit.

8. In a market there are two consumers. The demand of consumer 1 for product ¢ is
given by ¢ = 30 — 0.5P. Consumer 2 has the following demand: ¢ = 25 — 0.5P.
The aggregate market demand curve for this product will be a

[ straight line with slope - 0.5.

[] straight line with slope - 1.

O kinked line with the kink at @@ = 5.

[] kinked line with the kink at P = 27.5.
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9. Economies of scope exist between book publishing and magazine publishing if

[ the cost of publishing a magazine is lower for book publishers than for other
firms.

[1 the cost of publishing a magazine is lower for firms that publish many magazines
than for firms that publish only one magazine.

[ the cost of publishing a book falls over time as the publisher acquires more
experience.

[1 the cost of publishing a book 1s not subject to the law of diminishing marginal
returns.

Part C (25 points): Consumer Choice

A student has a monthly disposable income of 9 000 rubles. He can spend this income
for lunches (good 1) at price p; or buy books (good 2) at price ps. This individual’s
preferences are represented by the utility function u(zy,z9) = z3zy. The prices of both
goods are p; = 200 (rubles per lunch) and ps = 1000 (rubles per book).

(a) (5 points) Write down the budget equation of this student. Represent his budget
line graphically in an (z;,zs)-space. What is the price of a book expressed in
lunches?

(b) (5 points) Derive the equation of an indifference curve for a given utility level
@. Write down this equation and represent graphically (sketch) several indifference
curves.

(c) (5 points) Show that the marginal rate of substitution between lunches and books
equals 2;—1"’ Use this result to determine the optimal consumption bundle of the
student. (Hint: you are not expected to set up the Lagrangian and to derive Ist-
order conditions but you need to carefully justify your solution.)

(d) (5 points) Suppose that now the government introduces a unit subsidy of 100 rubles
for each book to be paid to students. What is the new (buyers’) price of a book?
Represent the new budget constraint graphically.

(e) (5 points) Determine the new optimal consumption bundle of the student after
the mtroduction of the umt subsidy. What is the total effect of the price fall due to
subsidy on the demand for books? Indicate graphically the decomposition of this
total effect into substitution and income effects. (Hint: you do not need to calculate
these effects but you have to sketch their directions.)
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Part D (20 points): Production and Cost

A competitive firm produces widgets using labor and capital according to the Leontief
production function @ = f(L,K) = min{L,2K}. The firm can hire labor at the wage
rate w = 1 and capital at the rental rate r = 2.

(a) (5 points) Explain the economic meaning of the production function of this firm.
Sketch several 1soquants in the (L, K)-space. Does this firm exhibit increasing,
decreasing or constant returns to scale?

(b) (5 points) In the short run, the capital employed by this firm is fixed at K = 10.
Show that this firm’s short-run demand for labor if it has to produce ) widgets
18 Lsp(Q) = . Using this result, determine the firm’s short-run total cost of
producing ) widgets.

(5 points) Explain why, in the long run, the optimal labor-to-capital ratio must
be equal to 2.
combinations. Explain the economic meaning of this line. Show that this firm’s long-
run demand for labor 1s L*(Q) = @ and its long-run demand for capital 1s K*(Q) =
(/2. Using this result, determine the firm’s long-run total cost of producing @
widgets.

Sketch in your graph in (a) the line that shows all optimal input

(d) (5 points) Using your result in (c), determine this firm’s long-run average cost and
long-run marginal cost. Does this firm cost structure exhibit economies of scale?

IIxajga oneHUBaHUS.

IHoxka3zaresm Kpurepun
OlICHHBAHUA OlICHHBAHUA
Paboraer co | OcymecTBui a/IeKBaTHBIN
CTaTUCTUYECKUMHU MOMCK U KaueCTBEHHYIO
cOOpHUKaMH, 00paboTKy CTaTHCTHYECKHX

CTeMaTU3UPOBAHHBIMU JTAHHBIX.

OTEYECTBECHHBIMHU u | Jlenaet aneKkBaTHBIC BBIBOABI

3apyOeXHBIMH CaliTaMH CO | OTHOCHTEJIBHO JTUHAMUKA

CTaTUCTHYECKON HKOHOMHUYECKHUX

uH(popManuen. MOKa3aTesen.

Hcnonb3yer  cranpaprtHble | JlenaeT aieKkBaTHBIC BBIBOABI

METO/bI JAJIsl aHalM3a PsIOB | OTHOCUTENBHO  TEHACHLUN

JUHAMHUKH ~ SKOHOMHYECKHX | SKOHOMHYECKHUX MoKa3areien

IIOKa3aTelIeH. Ha KPaTKOCPOYHYIO
MIEPCIICKTHBY.

Beiemser u ouenuBaer | [aer COOCTBEHHYIO

B3aMMHOE BIIMSIHUE | KAYECTBEHHYIO OIICHKY

HKOHOMHUYECKHUX BBISIBIICHHBIM

noKasarelen. HSKOHOMHYECKUM Tpoleccam

Omno3HaeT  SKOHOMHYECKYIO | M SBJICHUSM.

chepy 001ecTBa, Kak | Jlemaer anekBaTHBIC BBIBOJIBI

CJIOKHYIO CUCTEMY. OTHOCHUTEJIbHO  TEHACHUUN




37

Ha

SKOHOMMYECKHMX IIOKa3arenei

JIOJITOCPOUYHYIO TIEPCIIEKTUBY.

CPEIHECPOYHYIO u

Bbaisl
(perTuHroBOM
orieHKn), %

Ounenka

TpeOoBanus K 3HAHUAM

100-81

5, «oTmnuHO»

- OreHKa «OTJIMYHO» BBICTABISICTCS CTYACHTY, €CIIM OH
DIyOOKO W TPOYHO YCBOWJI MPOTPAaMMHBIN  Marepuai,
MCUEPIIBIBAIOIIE, MOCIEI0BATEIIFHO, YETKO M JIOTHYECKH
CTPOMHO €ro wu3iaraeT €ero Ha »JK3aMeHe, YMeeT TECHO
YBSA3BIBATh TEOPUIO C MPAKTHKOM, CBOOOIHO CIPABISETCS C
3aJayamMy, BONpPOCAaMHM M JPYTMMH BHJAaMH TNPUMEHEHUS
3HAaHUHM, TpUYEeM HE 3aTpyIHSETCS C OTBETOM IIpU
BUJIOM3MEHEHUHU 3aJlaHUi, UCIOJBb3YeT B OTBETE Marepuai
MOHOTpapUYECKON JUTEPaTYpbl, NPaBUILHO OOOCHOBBHIBAET
MPHUHATOE PEIICHHUE.

- VY4eOHbIE TOCTWKEHUS B CEMECTPOBBIH MEPHON H
pe3ynpraraMu  pyOSKHOTO  KOHTPOJIS  JEMOHCTPUPYIOT
BBICOKYIO CTEIICHb OBJIAICHUS IPOTrPaMMHBIM MaTEPUAIIOM.

80-61

4, «xopo1o»

- OneHkKa «XOpOII0» BBICTABISIETCA CTYAEHTY, €CIU OH
TBEPZIO 3HAET Marepuall, 'PaMOTHO U IO CYIIECTBY M3Jaraer
€ro, He JIOMYCKasl CYIIECTBEHHBIX HETOYHOCTEH B OTBETE Ha
BOIIPOC, NPAaBUJIBHO NPHUMEHSAET TEOPETUYECKUE IOJIOKEHUS
[P PEIIEHUU TPAKTUYECKUX BONPOCOB U 3ajay, BIIaJeeT
HEOOXOIMMBIMU HaBBIKAMH U TIPHEMAMU UX BBIITOJHEHUS.

- VY4eOHbIE TOCTIWKEHUS B CEMECTPOBBIH MEpPHON H
pe3ynpraraMu  pyOEKHOTO  KOHTPOJIS  JEMOHCTPUPYIOT
XOPOLIYIO CTENEHb OBJIAICHUS IPOIPAMMHBIM MaTEPUAJIOM.

60-41

3,
«yIOBJIETBO-
PUTENBHO»

- Onenka «YIOBIIETBOPUTEIILHO» BBICTABILICTCS
CTYIEHTY, €CIIM OH HMEET 3HAaHUS TOJIBKO OCHOBHOIO
Marepuajia, HO HE YCBOWI €ro JeTajed, JOIyCKaer
HETOYHOCTH, HEJOCTATOUYHO IpaBHIbHBIE (HOPMYIUPOBKH,
HapyILIEHUs JIOTUYECKOHN I0CIJIENOBATEILHOCTUH B U3JI0KCHUU
[IPOrPaMMHOIO MaTepuasa, HCIBITBIBACT 3aTPYAHEHHUs IIpU
BBITIOJIHEHUH IPAKTUYECKHUX PaboT.

- VY4eOHblE OCTWKEHUS B CEMECTPOBBIA MEPHON H
pe3ynpraraMu  pyOEKHOTO  KOHTPOIS  JAEMOHCTPUPYIOT
JIOCTaTOuHYI0 (YZOBJICTBOPUTEILHYIO) CTENEHb OBJAICHUS
IIPOrpaMMHBIM MaT€pUAJIOM.

40-0

2,
«HEYIOBJIET-
BOPUTEIIBHO»

- OneHka  «HEyHOBJIETBOPUTENIBHO»  BBICTABIIETCS
CTYAEHTY, KOTOpPBIM HE 3HAET 3HAYUTECIBHOM 4YacTu
[IPOrPaMMHOI0  Marepuaya, JONYyCKaeT CYLICCTBEHHbIE
OmMOKH, HEYBEPEHHO, C OOJBIIUMHU  3aTPyIHEHHUSIMH
BBITOJIHSACT NpakThiyeckue padotsl. Kak mpaBuio, oneHka
«HEYIOBJICTBOPUTEIILHO» CTABUTCSA CTYNEHTaM, KOTOpPHIE HE
MOTYT MPOAOJDKUTH 00ydeHue 06e3 JOMOTHUTEIbHBIX 3aHATUH
10 COOTBETCTBYIOLIEH NUCIUILIMHE.

- Y4eOHbIE JOCTWKEHUS B CEMECTPOBBIA MEPHON U
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pesyibprataMud pyOeKHOTO KOHTPOJSI JIEMOHCTPUPOBAIH HE
BBICOKYIO CTETIEHb OBJIAJICHUS TPOrPAMMHBIM MaTEPHUAIOM IO
MUHHUMaJIbHOHU IIJIaHKE.

- Kypc mnonHocthlo ocBoeH. CTyJeHT NOKa3bIBacT
XOpOLIMK CTaHIApPTHBIA YpPOBEHb 3HAHWM BCEX AacCIEKTIOB,

45-100 3auer
UCIIOJIb3yeT TEPMUHOJIOTHIO U CJIOBOOOPA30BAHHME W XOPOIIO
MPUMEHSIET TEOPHUIO K PEIICHHUIO 3a/1a4.
- CrTyneHT He [OOATOTOBIIEH M HE MOXET I[I0Ka3arb
0-44 He3zauer A A

JOCTAaTOYHOIO 3HAHUS Marepuaia Kypca.

4.4 MeToauiecKue peKOMeHIa U

3HaHUs CTy/AEHTa OLICHUBAIOTCS MOCPEACTBO TeCTHpOBaHus TecTupoBaHMe HallEIeHA Ha
U3MEPEHUE YPOBHS 3HAHUM U HAaBBIKOB CTYJEHTA. T€CTUPOBAHUE COCTOUT U3 IBYX YaCTEH:
MUCHbMEHHOTO 33JIaHMs U Psijia BOIPOCOB ¢ BapHaHTaMM oTBeTa. /|1 mosydeHus BeIcuiero Oasia
HE00X01MMO NpaBUIILHO O0TBeTUTH Ha 80% BompocoB. Kpurepun oneHKH NpuBeaeHBI BBILIE.

5. MeTtoauueckne yKa3aHus JJs1 00yYAKIINXCH 10 0CBOECHHIO THUCIUTLTHHBI (MOYJIsl)

Sanatus no aucnuiuinHe «Introduction to Economics» mpencraBieHbl CIEIYIOIMIAMU
BHUJIaMH PaOOTHI: JICKIIMOHHBIC U TIPAKTUUECKHE 3aHATHS, CAMOCTOsITeJIbHAs paboTa CTyIACHTOB.

Ha nekuusx CTymeHThl 3HAKOMATCS C HOBBIM MaTepUajioM, 3aJal0T BOIPOCHI, BEIYyT
KOHCIIEKT JICKITUM. Ha MpakTHYeCKUX 3aHATHSIX CTYACHTHI BBHIMOIHSIOT 3aJlaHUs, CBA3aHHBIC C
00CYXJICHHEM OT/AEIbHBIX BOTIPOCOB.

CamocrosTespbHass ~ paboTa  MPOBOJMUTCS ~ BO  BHEAyJUTOPHOE  Bpems  0Oe3
HETMOCPEICTBEHHOI'O y4acTHs TMperoaaBatesisi (MOArOTOBKA K TMPAKTHYCCKUM  3aHATHSM,
U3ydeHUEe Y4eOHOro MaTepuaya, OTHECCHHOTO K CaMOCTOSTEIBHOMY OCBOCHHIO, BBITIOJHCHUE
JIOMAIITHETO 3aJlaHusl, MOATOTOBKA JOKJIAI0B, MOJArOTOBKA K MPOMEKYTOYHOU arrectaiuu). Bo
BpeMsl CaMOCTOSITEJIbHOW pPa0OThI CTYICHTHI KCIOJB3YIOT MAaTepHalbl JICKIH, HaydHO-
METOJMYECCKYI0  JIUTEpaTypy, T[EPBOUCTOUYHHKHA, COBPEMECHHYI) HAyUHYIO JIUTEpaTypy,
NEPUOIUYECKYI0  JIUTepaTypy, Marepualibl, cojaepkammecs B ceTd  «MHTepHeT».
CamocTosTeIbHYIO pad0OTy BO BHEAyTUTOPHOE BPEMsI CTYJIEHThI MOTYT MPOBOIUThH B OUOJIHOTEKE
Axanemun.

6. YdeOHas JuTepaTypa U pecypchbl HH(POPMAIUOHHO-TEJIEKOMMYHHKALIMOHHOM CeTH
"HHTepHeT'', BKJIIOYas IepPeYeHb Y4eOHO-MeTOAUYeCKOro obecnedeHust AJIs
CaMOCTOSITEJILHOI PadoTHI 00yUYaOIIMXCs MO AUCHHUILINHE (MOLYJIIO)

6.1. OcHoBHas nuTEparypa.

1.Philosophy of Economics, Elsevier Science, 2012. ProQuest Ebook Central,
https://ebookcentral.proquest.com/lib/ranepa-ebooks/detail.action?docIlD=906975.

6.2. JlononHUTebHAS TUTEpaTypa.

1.Korres, George M.. Handbook of Innovation Economics, Nova Science Publishers, Inc.,
2012. ProQuest Ebook Central, https://ebookcentral.proquest.com/lib/ranepa-
ebooks/detail.action?docID=3022497.
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2.The Economics of New Goods, edited by Timothy F. Bresnahan, and Robert J. Gordon,
University of Chicago Press, 2014. ProQuest Ebook Central,
https://ebookcentral.proquest.com/lib/ranepa-ebooks/detail.action?docID=408515.

3.Frey, Bruno S.. Happiness : A Revolution in Economics, MIT Press, 2014. ProQuest Ebook
Central, https://ebookcentral.proquest.com/lib/ranepa-
ebooks/detail.action?doclD=3338863.

6.3. YueOHo-MeToan4YeCcKoe 00ecTieueHrne CaMOCTOATEIbHOM paboThI.
6.4. HopmaruBHBIC IPAaBOBBIC JIOKYMEHTHI.
6.5. IuTepHeT-pecypcHl.

http://www.pearsonhighered.com/parkin

http://economicus.ru/library.html

6.6. IHblE UCTOYHUKMU.

7. MarepuajabHO-TexHHM4YecKasi 0a3a, HHPpOPMALMOHHBIE TEXHOJIOTHH, IPOTPaMMHOE
obecrieyeHre M1 HHGOPMALMOHHBIE CIIPABOYHbIE CHCTEMbI

Jns  mpoBeneHHs Kypca TpeOyercss Kiacc, OOOpYIOBAaHHBIA JOCKOW, MapKepamH,
KOMIIBIOTEPOM U ITPOEKTOPOM.

W3yyenne IUCHUIIIMHBI TpeOyeT HajJHuue MNEepCOHAJbHBIX KOMIIBIOTEPOB U HHTEPHET-
KJIACCOB JIJIi TIOMCKa JIOTIOJHUTENBHONW HWH(POPMALMU BO BpEMsl CaMOCTOATEIbHOM pabOThHI
CTYZICHTOB.



